%1073

< d cot(B) >

<3 @> (rad)
o
=
[¢)]

0.05]

........................

-0.05

o
TIT [T T [ TI T[T T[T I T I T[rrrT

PN U T O N PO T

o
o
(]

10

Ratl

iy

T
|
N
B

T
|
N

1 0 1 2 3 092 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT__original
—e— DQM_TT__detQ0_PU
—— DQM_TT__detQ1_PU

g ].OCE glOOE
2 gof oA 2 gof
N - R N I !
2 60 doAp - < 60
& 60F : - ;
) C : o E ;
© 40F | v 40
C b A C b
20F Sk 20F 1.
oF 3 i } OF ¥ -
—20f : i —20f :
—a0f —a0f

[
8

Ratiq
[
8

Ratiq

iy
TTTT] T

0.95

-2 -1 0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

W

0.95

|
w

|
N

<op/p.> (%)
O = N W N O

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


